3UDFRZQLN 5RINiDG  GU 6]QXUNRZVNL 3UJHP\ViDZ SURI 8- "

/DVIRB

7\J

7N 7N 7N
+VIRUD WHIDIXIN 31-1 DQDIID L SVDQH
o +VIRUD WHIDIXIN QHPLHFNRICI\FIQHI FZ IHNVIX GU 6TQXINRZVNL
! QHPLHFNRICI\FIQHI Z 6 GU BTQXINRZVN. 3UJHP\ViDZ SIRI 8-* =
U 6]QXINRZVNL 3UJHP\ViDZ SIRI 8-* = % Y=/ =
3UJHP\ViDZ SIRI 8-* = % Y=/ =
% ) el 4 -
1
oD
)
Lo
o3
=
oM
7N 7N 7N 7\6]
+IVIRUD WHIDIXI
+IVIRUD GHIDIXI +IVIRUD GHIDIXI +IVIRUD WHIDIXI QHPLHFNRIGI\F]QHI FZ
QHPIHFNRIGI\FIQHI Z G QHPLHFNRIGI\F]QHI FZ QHPLHFNRIGI\F]QHI FZ GU 6]QXUNRZVN.
U 6]QXINRZVN. GU 6]QXUNRZVN. GU 6]QXUNRZVN. 3UJHP\ViDZ SIRI 8-*
3UJHP\ViDZ SIRI 8-" = 3UJHP\ViDZ SIRI 8-" = 3UJHP\ViDZ SIRI 8-" = )35 =
% y*35 - % )y*35 = % )y*35 =
7\6]
a) +LVIRUD (IHUDIXI
T QHPLHFNRIC]\F]QHI FZ 76l
w GU 6]1QXUINRZVNL +VIRUD
= 3UJHP\ViDZ SIRI 8-* = WIHUDIXU
% y*35 - QIHPLHFNRI
CINFIQHI
Z Gl
61QXINRZY
N
3UJHP\ViD
Z SIRI 8-~
=%
)*35
—




